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NEW
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Part II 3-Tier
éOST AND MANAGEMENT ACCOUNTING
PAPER—G4
' (G;aneral}

| Full Marks : 100

|
|
The ﬂgures in the right-hand margin indicate full marks.

Time : 3 Hours

Candzdates are required to give their answers in their

| own words as far as practicable.
Hiustrate the answers whergver necessary.

|
Group—A

i
{ Cost Accounting )

| [ Marks—45 |

| ;
1. Answer any two questions :

(a) From the given particulars compute :

.2x3

| (if Re-order Level,

‘ {ii) Re-order Quantity,
| (il Maximum Reorder period.

{Turm Qver)



Normal usage — 100 units per day
Minimum usage — 60 units per day
Maximum usage — 130 units per day
Minimum level — 1400 units

Maximum level — 7800 units

Reorder period :

Normal — 25 days, Minimum — 20 days.

(b) A manufacturing company provides you with sumimary
of its production levels :

Cost item 1000 units 3000 units
Rs. Rs.
X 5000 5000
Y 1400 2200
7 3000 9000

What would be the total cost if the company produces
2000 units?

{c} Discuss the points of difference between Halsey and
Rowan system of bonus payment to workmen.

(d) Company X requires about 2,000 units per quarter
for the purpese of its production. Rs. 100 per order
is incurred for placing an order. The inventory
carrying cost per unit is Rs. 4, Calculate economic
order quantity.
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3x38

2. Answer any three guestions :

(a) 1 A company is manufacturing Ceiling Fans and the

| followmg details are furnished in respect of its factory

operatmns for the year ended 31st December, 2015 :

\! W-I-P 1st January 2015 51,000

‘i (At Prime Cost)

[ Manufacturing expenses 15,000

: 66,000

| W-L.P, 31st December 2015 45,000

‘l (at Prime Cost)

| _ Manufacturing expenses 9,000

| 54,000

| Stock of raw materials,

‘| 1st January 2015 2,25,000

i Purchase of raw materials 4,777,000 -

| Direct Labour . 1,71,000
| |‘ Manufacturing expenses 84,000

| Stock of Raw Materials |

2,04,000

! on 31st Dec., 2015

| On the basis of the above data prepare a cost sheet.
8
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(b) A manufacturing company purchased and issued a
material in the following order :

Date Particulars Units Unit cost

2016

Jan. 1 Purchase 600 units 4.00
Purchase 300 units 4.20

Issue 500 units —
10 Purchase 700 units 4.40
15 Issue 800 wunits —_
20  Purchase 300 units 5.00
23  Issue 100 units —

Prepare a stores ledger, pricing the issues at simple
Average Cost, 8

(c) (i) What do yeu mean by idle time ? Classify it with
suitable example.

(ii) From the following ‘details calculate the total

earnings of a worker and the effective hourly rate

- of labour wages where bonus is paid under
(A} Halsey (B) Rowan

Basic rate of wages P.h. T 3.60

Time allowed for the job 16 hrs.

Time actually taken 12 hrs.*%
(2+2)+(2+2)
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(i What do you mean by Machine Hour Rate
(MHR) ?
(i) What are the differences between allocation and

apportionment of overhead?

(iif) What are the bases of Primary distribution and

secondary distribution of overhead costs ?

| 2+3+3
i

|

Fe) (i) Write elementwise classification of overhead with
' examples.

(i) What do you mean by fixed overhead, variable

overhead and semi-variable overhead ? 5+3

|
(i (i) What are the basic differences between Job

Costing and Process Costing?
(i) What do you mean by Cost-plus-contract ?
(iii)y What do you mean by Retention Mogey ?

(ivy What are the entries in Contract Account in

respect of the value of work completed and money

. #1t]t?

| ”
; received ?
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3. Answer any one question : Ix15

(a) In a manufacturing concern ABC Ltd. the
machineshop has 8 identical machines manned by 6
operators. The machines cannot be worked without
an operator wholly-engaged on them. The total costs

of the machines are Rs. 8,00,000.

From the following information relating to a six month
period ended on 31st March, 2018. Corpute a

comprehensive machine hour rate for the machine

shop :

Normal available hours p.m — 208

Absenteeism (without pay) hours p.m — 18

Leave (with pay) haurs pm — 20

Normal idle times (unavoidable) hours p.m — 10
Average rate of wages per day .Of 8 hours — Rs. 20/-
Production Bonus — 159, on wages

Power and Fuel consumption — Rs. QQOO/ -

Supervision and indirect labour — Rs, 3,300/-
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Electricity — Rs. 1200/-

The following particulars are on a yejly basis :

| Repairs and Maintenance — 3% of valu§ of Machines

Insurance — Rs. 42000
Depreciation — 10% of original cost
Other Factory Expenses — R 12,000

| Allocated General Management Expenses —
Rs. 63,670

(ib) Product P is obtained after it is proc
' three distinct processes. The following cost

information is available for the operation :

cesed through

\ Processes
I Total I I m
Rs. Rs. Rs. Rs.

| Direct Materials 11,250 75,200 4,000 2,050

Direct Wages 14,660 4,500 7,360 2,800

Production 14,660 — —

overheads

1000 units @ Rs. 8 p.u were introduced in Process
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(c)

[. Production overhead are absorbed as a percentage

of Direct wages.

The actual output, normal loss of the respective

processes are :

Process Output  Normal loss  Value of scrap

unit on input p.u Rs,

I 900 10% 2’
I 680 20% 4
o m 540 25% 5

There is no stock or WIP in any process. Show process

accounts and other necessary accounts. i5

XYZ Co. Ltd. undertook a contract for construction
of a bridge on 1st July 2015. The contract price was
T 5,00,000. The company incurred the following
expenses upto 31st December 2015 -

£
Material consumed 1,10,000
Wages 40,000
Direct expenses 20,000
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Plant purchased on 1.7.15 1,00,000

Materials in hand on 31.12.15 5,000

Depreciation 10% p.a. on plant

Charge other works expenses @ 20% of wages and
office expenses @ 10% of works cost. The amount
certified by the contractee’s engineer was ¥ 3,00,000,

retention money being 20% of the certified value.

Prepare the contract Account showing therein the

amount of profit that the company can reasonably
take to its profit & loss account. 15

Group—B
{ Management Accounting }
[ Marks—45 |

Answer any two questions : 2x3

(a) Explain the concept of Working Capital.

{b) Make a distinction between a Cash Budget and a Cash

Flow Statement.

{Turn Qver)
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(¢} From the following particulars prepare a Production
Budget for the year ended 31.12.17 :

Products Budgeted Sales Estimated Stock

{units) {units)
2016 2017
4,00,000 20,000 30,000
3,00,000 25,000 40,000
8,00,000 60,000 45,000

{d) From the following information of Alpha Company Ltd.,

Com‘puf_e Return on Equity and Return on Investment :

Net Profit Margin 5.5%
Assets Turnover 2. times
Dividend Payvout ratio 31.8%
Equity Turnover (Sales/Equity) 4.2 times

8. Answer any three of the following questions : 3x8

{a) (i) 'What is Accounting Ratio’?
{ii) State the limitations of Accounting Ratio. 2+6

{(b) Maké a distinction between ‘Cash Flow Statement’

and ‘Fund Flow Statement’.’
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(c}

! Accoﬁntant.

Explain briefly . the functions of a Management
8

(cﬂ From the following details prepare a Summarised

|
Balance Sheet of PQR Ltd. as on 31st December,

| 2017:

l‘! (i) Fixed Assets to Net Worth 075 : 1

"‘ {iiy Current Ratio 5:2

l (iii) Acid Test Ratio 3:2

! (iv) Reserve included in

l Proprietor’s Fund 1:4

| (v) Current Liabilities Rs. 4,00,000

.I (vi) Cash and Bank Balance Rs. 20,000

| (vii) Fixed Assets Rs. 12,00,000
8

| .
(e} From the following information prepare a statement

|
of working capital requirement at the level of activity
of 5,200 units p.a.

(i) Selling price is Rs. 10 per unit.

| s
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(i) The expected ratios of cost to selling are :

(@) Raw Material 40%
(b) Direct wages | 10%
{c) Overhead 30%
(d} Profit 20%

(iii) * Raw materials are expected to remain in store for

an average period of six weeks.

(iv) Finished goods will stay in store approximately

for six weeks before despatch to customers.

(vl Credit allowed to debtors is for a period of two -

months.

(vi} Credit allowed by creditors is for a period of two

months.

{(vil) Lag in payment of wages and overheads is for a

period of two weeks.

(viii) Cash in hand and bank is expected to be
Rs. 10,000.1t may be noted that production is
carried on evenly during the year and wages and

overheads accrue similarly. g
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o

Following information at 50% capacity is given.
| Prepare a Flexible Budget and forecast the Profit or
' loss at 60% and 90% capacities :

b Fixed Expenses Expenses at 50% capacity

! Rs.

! Salaries 1,00,000

.‘I Rent and Taxes 80,000

| Depreciation 1,20,000

: Administrative Expenses 1,40,000

!l Variable Expenses :

f‘ Material 4,00,000

l‘l Labour 5,00,000
Others 80,000

; Semi-variable Expenses :

i Repairs 2,00,000

| Indirect Labour 3,00,000

|
‘ Others ' 1,80,000

Estimated éales at various levels of capacity are
Rs. 24,00,000

Rs. 32,00,000

60% capacity .
! 90% capacity
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6. Answer any one question : 1x13

(a) (i) What do you mean by fund flow statement?

(ii} From the following balance sheets of XYZ Ltd. on
31st December, 2016 and 2017, you are required
to prepare.

(a) A schedule of changes in working capital

(b} A funds flow statement.

Liabilities 2016 2017 Assels 2016 2017
Share Capital 1,00,000 1,00,000 Goodwill 12,000 12,000
General Reserve 14,000 18,000 Bailding 40,000 36,000
P/L A/C 16,000 13,000 Plant 37,000 36,000
Sundry Creditors 8,000 5,400 Investments 10,000 11,000
Bills Payable 1,200 800 Stock 30,000 23,400
Provision for Bills )
Taxation 16,000 18,000 Receivables 2,000 3,200
Provision for Debtors 18,000 19,000
doubtful debts 400 600 Cash at Bank 6,600 15,200
1,55,600 1,55,800 : 1,55,600 1,55,800
% The following additional information has also

been given

(i) Depreciation charged on plant was ¥ 4,000
and on building ¥ 4,000.
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{iij Provision for taxation of ¥ 19,000 was made
during the vear 2017.

(ili) Interim dividend of ¥ 8,000 was paid during

the year 2017.

)(b) {j What do you mean by Budgetary Control ?

‘ (i) You are required to prepare a sales overhead
budget from the estimates given below :

‘ 3
f Advertisement 2,50,000
' Salaries of the sales department 5,00,000
: Expenses of sales. department 1,350,000
; Counter salesman’s salaries

6,00,000

and dearness allowance

Commission to counter salesman at 1% on their
‘ sales.
Travelling salesman’s commission @ 10% on their
| : )

sales and expenses at 5% on their sales.
| . .

The sales during the period were estimated at
| follows :

| A Counter sales Travelling salesmen’s

i ¥ 80,00,000 (1%t quarter) 10,00,000

; ¥ 120,00,000 (274 quarter) 15,00,000

j ¥ 140,00,000 (3™ quarter) 20,00,000
{Turn Quver}
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{c) (i) Write down different sources of working capital.
(i) How can working capital be managed ?

(ili) The following is the balance sheet of a company
as at 31.3.2017.

Find Gross Working Capital and Net Working
Capital. '

Balance Sheet as at 31.3.17

Fixed Asset :

Land & building 1,00,000

Other Fixed Asset _ 60,000 1,60,000
Current Asset :

Stock 2,00,000

Debtors 1,90,000

Cash __10.000 4,00,000
Current liabilities :

Creditors 1,70,000

Bank overdraft 1,05,000

Provision of taxation 40,000

Outstanding expanses 15,000 3,30,000

The bank will not extend the overdraft above the
level of 1,10,000 and it is proposed that the sales
be increased by 20%. What will the excess
working capital requirement ? 3+7+(1+1+3}

{Internal Assessment — 10 marks]
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(i) Re-order Level, '

(i) Re-order Quantity,

(itij Maximum Reorder period.
Normal usage — 100 units per day
Minimum usage — 60 units per day
Maximum usage — 130 units per day
Minimum level — 1400 units
Maximum level — 7800 units

Reorder peribd :
Normal — 25 days, Minimum — 20 days.
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() a2fb BLAWASIR 3377 SAMTTR 56 WA SesAma TrEe

sifF e coree oneT B4 ¢

Cost item 1000 units 3000 units

Rs. Rs.
X 5000 5000
Y 1400 2200
z 3000 9000

T H2ZB 2000 997 Seow F0E O ©IF (N 9T T

TR
(o) WemmWﬂW\%ﬁTWwf

(T @A X OF AWM & e femns @ @3
T 2000 93T AT F | ANNBA 2B ey
RESTER <95 100 T, Wi wams <0 @o o
4@1@.@@@%&@@@@«1&@@
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2 8 R [R5 v Sew e

(F)

AT e ¢
W-I-P 1st January 2015
. (At Prime Cost)

; Manufacturing expenses

|
W-I-P, 31st December 2015
(at Primt Cost)

Manufacturing expenses

Stock of raw materials,
Ist January, 2015

Purchase of raw materials

Direct Labour
Manufacturing expenses

Stock of Raw Materials
on 31st Dec., 2015

OXb

: a3l @i w9 BeAwm F0T @32 UF 31st Decem-
|
ber, 2015-®ww@ﬁawﬁmaﬁm

51,000

15,000

66,000
45,000

_-9.000
54,000

2,25,000

4,77,000

1,71,000
84,000

2,04,000

On the basis of the above data ptépai€ 4 £pst sheet.
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.(n:) 4316 BeoAmaeTt (@A Rovg Sl o e Sedmte

G AWITAS 5 (weTl (e 3

Date

2016

Jan. 1
4
6
10
i5
20
23

Particulars

Purchase
Purchase
Issue
Purchase
Issue
Purchase

Issue

Units

600 units
300 units
500 units
700 units
800 units
300 units
100 units

Unit cost

4.00
4.20

4.40

5.00

Simple Aﬁerage A=fSTS Store Ledgei‘ edfae =1

b«

() (1) e Y Fewe & @Ry Srmees g )

(i) Foss feRd (s avom =% b ang R 99
BN S TG 2 efaet a1 (@i (i e
T 9T (1) Halsey (ii) Rowan “%fers|

Basic 1ate of wages P.G.

Time allowed for the job

Time actually taken
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T 3.60
16 hrs.
12 hrs.

(R+)+(2+3)
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'(d) (i) Machine Hour Rate (MHR) J&T(® & (A2

. (i) Tow 8 WHAIET T e & @R
| ) o T8 e o T et R

I+O+9

S (8) (i) AR @mﬁq LRI AR 9

(i) Pz oiffam, AR TofRn a3 wnfis AR
31 wfire P Seifda were @ @

|
) T+8

®) () o AT o Rere SRR WU A

) R e e e s R e
1 (i) CIT A WY TS e A2

. (iv) (531 BT (w0d & qaras St iferaad Fe 20

q
: (5) I ¥ T ReT YEH B a1 T,
(‘2) WQI/"fM'ﬂT W{ §+>+§+8
{Turn Quver)
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Ol (@ W G 5 T8 We 2 VX NE

(F) ABC Ltd. TITF A SAWIN ARSI (I =751 8%
HAGTOIE (T 6 T TATALT I9a ARGIES 271 (FIN
A T fOT 9FT SSITA0d @ 1 210e Afpifere
2300 A 71| Wi @it wEy fea 8,00,000 B -

3104 W6, 2018 SfETY AN 6 WA FA(AT O 33O
AfifEre ifse 9% 2 dT 33 ¢

Normal available hours p.m — 208

Absenteeism (without pay) hours p.m — 18
Leave (with pay) hours p.m — 20

Normal idle time (unavoidable) hours p.m — 10
Average rate of wages per day of 8 hours — Rs. 20/-
Production Bonus — 15% on wages

Power and Fuel consumption — Rs. 9000/-
Supervision and indirect labour —~ Rs. 3,300/-
Electricity — Rs. 1200/-

The following particulars are on a yearly basis :
Repairs and Maintenance — 3% of value of Machines
Insurance — Rs. 42000

Depreciation — 10% of original cost

QUCT Faciory Expenses — Rs. 12,000

Allocated General Management Expenses —
Rs. 63,670

e
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|
() o sy o eifemas MUY MEAR A7 P %7 ST IR
| @2 I & ARl SAfRarw Ras ©Ly Hew e

R Processes
' Total I I m
Rs. Rs. Rs. Rs.

11,250 5,200 4,000 2,050
14,660 4,500 7,360 2,800

Direct Materials

| Direct sages

! Production 14,660 — —

|
overheads

1000 units @ Rs. 8 p.u were introduced in Process

! 1. Production overheads are absorbed as a

l percentage of Direct wages.

! The actual output, normal loss of the respective

| processes arc |

|
Output Normal loss Value of scrap

| Process

| unit on input p.u Rs.
ll I 900 10% 2

ll 1 680 20% 4

‘ 144§ 540 25% 5

arTa e STl sy e sErspe Ay fiet || alfer feT
SR G2 ST AT TR 2 W | 34
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(3)  XYZ @I @i Sia TR 391 ezt 33 1st July,
20151 i e =t v F4iRe @« € 5,00,0001
@i Tl <aoefe 9e1 (31st Dec., 2015 #¥%)

4
~Material consumed 1,10,000
Wages 40,000
Direct expenses 20,000
Plant purchased on 1.7.15 1,00,000
Materials in hand on 31.12.15 5,000

Depreciation 10% p.a. on plant

Charge other works expenses @ 20% of wages and
office expenses @ 10% of works cost. The amount
certified by the contractee’s engineer was

3,00,000, retention money being 20% of the

certified value.

fos! T TR e, ) ok o e e e
8 Ho7 AT WY 4| e
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' fRott—2
;! ( ARBrET AT )
‘ [ 499 —s¢ |

81' (1 (I 7T o4THe Tew M Ix®

'}‘(z*p) BeIfS YAYCTE IIALTZ WIS WREFT HIF<G [Ty S|

‘ .
: (¥4) ‘Cash Budget’ @3 ‘Cash Flow Statement’-43 (¥

: Atefy et FCan

(e fAeRRe e RS 31.12. 17 ST (4F 26T AT
o+ 9F6 Production Budget 2FS I

Products Budgeted Sales Estimated Stock
l {units) {units)
II _ 2016 2017
" A 4,00,000 20,000 30,000
|‘| B 3,00,000 25,000 40,000
c | 8,00,000 60,000 45,000
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(9) Alpha Company-¥ (¢ f=feie 2 (AF Return
on Equity and Return on Investment = (T :

Net Profit Margin 5.5%
Assets Turnover 2 times
Dividend Payout ratio 31.8%
Equity Turnover (Sales/Equity) 4.2 times
¢l (3 (W fomfs wree Ten e ¢ OX V¥

@) (1) e oo 92
(i) e weeirer sfRatef @4) Y

) aﬂwmﬁwﬁi aF2 oTRE oz [{FEEdE W A
e T I b

() T AT BRRTHET IR WA FR

(¥) From the following details, prepare a Summarised

Balance Sheet of POR Ltd. as on 31st December,
2017 :
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{i) Fixed Assets to Net Worth
{ii) Current Ratio
(iii) Acid Test Ratio

{ivi Reserve included in

Proprietor’s Fund
(v) Current Liabilities
(vij Cash and Bank Balance

(vii) Fixed Assets

0.75 : 1

5 %2

32

L4

Rs. 4,00,000
Rs. 20,000
Rsf 12,00,000

-4

(¢) FRRe o9 (I 5,200 units &S TG TLAWCAT &
4 IR e AT Rl o R

(i) Selling price is Rs. 10 per unit.

(i) The expected ratios of cost to selling are :

(a) Raw Material
(b) Direct wages
(c) Overheads

{d) Profit

40%
10%
30%
20%

(iii) Raw materials are expected to remain in store for

an average period of six weeks.

C/18/B.Com./Part-1[{G})/3T{N)/ G4
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(iv)

{v)

(vi)

{vii)

(viii)

28

Finished goods will stay in store approximately

for six weeks before despatch to customers.

Credit allowed to debtors is for a period of two
months. '

Credit allowed by creditors is for a period of two
months.

Lag in payment of wages and overheads is for a
period of two weeks.

Cash in hand and bank is expected to he
Rs. 10,000.

It may be noted that production is carried on
evenly during the year and wages and overheads

accrue similarly, b

(5) Following information at 50% capacity is given.

Prepare a Flexible Budget and forecast the Profit and
loss at 60% and 90% capacity :

Fixed I'xpenses Expenses at 50% capacity
Rs.
Salaries 1,00,000
Rent and Taxes 80,000
Depreciation 1,20,000
Administrative Expenses 1,40,000

- C/18/B.Com./Part-11(G)/ 3T(N}/ G4 {Continued)
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! Variable Expenses :

; Material 4,00,000
[ Labour 5,00,000
i ‘Others 80,000
| Semi-variable Expenses :
Repairs | ‘ 2,00,'000
| Indirect Labour 3,00,000
| Others 1,80,000
‘ Estimated sales at various levels of capacity are
f 60% capacity Rs. 24,00,000
f 90% capacity Rs. 32,00,000
-4
:
IX%€

| @ @ ST e Teg me ¢

|

@ () wufe warz fRead s & @R

i) BTET XYZ Ltd.-939 876~ (31.12.2016) (AT
(ST AFS FACO LI—
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L7E 2016 2017 Jw 2016 2017
Share Capital 1,00,000 1,00,000 Goodwill 12,000 12,000
General Reserve 14,000 18,000 Building 40,000 36,000
B/L A/C 16,000 13,000 Plant 37,000 36,000
Sundry Creditors 8,000 5,400 Investments 10,000 11,000
Bills Payable 1,200 800 Stock 30,000 23,400

Provision for Bills
Taxation 16,000 18,000 Receivables 2,000 3,200
Provision for Débtors 18,000 19,000
doubtful debts 400 600 Cash at Bank 6,600 15,200
1,55,600 1,55,800 1,55,600 1,55,800

e wichie Regaef o sz —

(i) 20T Tom WS T 4,000 932 fafss-az Bog
T 4,000

{ii) 2017 AT DCLF AT A AR T 19,0001

(i) 2017 AN TGS} FEPA (MeT ZCATK T 8,000

Q) ) Aween Fwed s fr e

(i) e R (e o R Sefdarw Ines oo
09 ZI—
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i Rz 2
:- Advertisement 2,50,000
| Salaries of the sales department 5,00,000
‘ Expenses of sales department 1,50,000
; Counter salesman’s salaries
6,00,000

and dearness allowance
‘ ' . . -
Commission to counter salesman at 1% on their

sales.
!
Travelling salesman’s commission @ 10% on

‘ their sales and expenses at 5% on their sales.

o Ty Ren {Ef ae—

|
1G5 ey RACT N, e T
| .
| ) fT@a (3)
| ¥ 80,00,000 (1%t quarter) 10,00,000
| % 120,00,000 (24 guarter) 15,00,000
| 20,00,000

! 7 140,00,000 (3'¢ quarter)

() (i) G AR SeAsfE &2

-‘ (i) 65IfS TACAT Y [P TSI 7
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(i) +THT S=$ T I Frnfg 31.03.17 SIFTeE
g (red @R | @t b 5afs yow @ 75

5 EEE BrEd 791
Taes1q (31.3.17)

Fg o=t |

3fTwg 1,00,000
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